N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
x X < B4
[=} L =} [=] o
g, g S 8
T10°F = =
3 o o 2
F = & 810
[ =
10°F 3
3 10
10°F 10°F
10§ 10F
1 E
1 etre E. S AT TR AT TRV A TR TR T ATA TAYTNG
2 élineaiter
© RetrainV2_WP.
@ 1. i s ry
1 -I":.“I
0'—25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L F L L 2
[=} L [=} [=] [5)
g, g S s
T10%E- ol N ©
E 2 %’l g
F =
10° 310
10?
10?
10
g IIIIII!! il IIIIIEII =1 g
& |1’|m|| H El & IiIm"m" §
0.9! 0.9 |E||||||H il H H
=30 -2 -10 0 10 20 30 30 —20 -10 0 10 0 -30 -20 -10 O 10 20 30 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


